
















So the QR method found the eigenvalues with unique
magnitudes, but failed to find the ones that came in
complex-conjugate pairs...which instead lead to a 2x2
block on the diagonal...

We should have examined that 2x2 block more carefully
in class...  I'll do that here in the notes...



As there were a few minutes left in class, I began an application
of eigenvalues...

The fact that B is symmetric and positive semi-definite means
that the eigenvalues are real and non-negative.

That means the eigenvalue of largest magnitude has to be
unique (not counting multiplicity) and so the power method
will always be able to find it.

Moreover since we'll be taking a maximum in the definition
of the norm, we only need the largest eigenvalue of B.

We'll start here next time...


